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o ___ Answer any five full questions o
OBE
Marks “(:;6* RBT :
Use Big -M method to solve the PP, [10]/ €02 L3 |
Maximize Z=-2x-y :
subject to the constraints 3x+y = 3, 4x +3y =6, X2y <4,%,y>0.
Use Two -phase method to solve the LPP , [10)i CO2| L3
Maximize Z=3x-y
subject to the constraints 2x +y 22, x+3y <2, y<4, x, y=>0,
a)Define balanced and unbalanced transportation problem with an example. R2licos | L1
b) Find the optimal solution for the given transportation problem by first finding [8] !C()ri L3
the initial basic feasible solution by Vogel’s approximation method. i
Destination i
D1 D2 D3 Supply
ot 6 8 3 i
Origin 02 4 9 3 12 \
03 1 2 6 s
Demand | 6 10 I3
a)Define assignment problem.Mention the algorithm used to solve. 21 coai 1!
b)A company has 5 tasks and 5 persons to perform the same.The matrix shows (81| co4| L3 |
the returns (profit)in hundreds of tupees for assigning jobs to the persons.
Assign the 5 tasks to 5 persons to maximize the total return.
Person
Pi [7) P3 P4 [
i § Tl 10 12 4
Task J2 2 4 6 3 s |
13 3 12 3 14 6
T 3 i 4 1 7
15 7 9 8 12 5 -
a) Solve the following game by dominance principle whose payoff matrix for & co6 | L3
player A is given by
: Player B T o
BI B2 B3 BY
Player A Al > 2 ! 0
A2 3 4 2 4
A3 4 2 ) )
Ad 6 q 0 B




b) Solve the following 6x2 game by graphical method. e ;C,@éi 1.3

PLAYER 6

Strategies Bl B2 ; :

Al 1 -3 ‘1 }

A2 3 5 %

A3 -1 6 N !

PLAYERA [Ad 4 i

AS 2 2

A6 -5 0 |
.
Use dual simplex method to solve the LPP, fidl ECQSi L3

Minimize Z = 2x-+y

subject to the constraints 3x+y =3, 4x+3y > 6, x+2y >3, x,y= 0. {
Use revised simplex method to solve the LPP, - L EIO]fQ@?,E L3

Maximize Z = 3x, + 2x, + 5x, i

subject to the constraints x; +2x, +x, <430 , 3x, +2x, <460, { l
X, +4x, 420, x,,x,,x, 20, |
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